Electronic Enclosures
17.75
— TOP HEIGHT BOTTOM HEIGHT
‘ Vo
/é};‘l./llllﬂjllﬂ//!@@/lllllzlll/!@{lllllllllllll 77
i I
g
\\} ‘
B 16.27 14.19 MAXIMUM
OVERALL INSIDE WIDTH
J‘ WIDTH
Jj} . . e A . /N __
\ \\J \‘{/
. 13.84 MINIMUM
' INSIDE WIDTH
| 11.75
BOSSES
Ny KanY
\\J N
y ' 77 '
I T I I i ) (@WWMWW |
T 'v’”y’llj | L
& ' =1 l  SECTION
A~ A-A
- 13.75 BOSSES -
4 Mounting Brackets included.
See Sheet 2 for dimensions.
Aluminum Panel Kits are available
as options, see sheets 3-5.
16.16 MAXIMUM The aluminum panel options are:
INSIDE LENGHT Bottom Panel Kit p/n 73000B
Top Panel Kit p/n 73040T
2/”/, Hinged Panel Kit p/n 73020TH
‘ //.\
7
g -UL listed to UL 508A 4/4X s’rcndcr)d
7 3 (UL file E519183).
/.13 2 /A QS’D -Material: UV stabilized Polycarbonate
CASE g OVERALL Flammability VO, F1 rated material.
HEIGHT g HEIGHT -Watertight enclosure meets or
g exceed Nema 4 and or IPé67.
? PARTS INCLUDED
g P/N Qty. Description
L _ i . T652HLT 1 1652 Hinge Lafch Top
@%ﬁ%VWWWWZI%MWWaw%%ZL__ e I620HLB ] 1620 Hinge LOTCh BOTtom
W=} FOR #10 44 BOSS — = | 8650 1 650 Perimeter O-ring
SELF TAPPING SCREW ‘HEIGHT 7011PCM 2 Safety Latch for I-Series
= 1355 4 Corner Mounting Bracket
15.74 MINIMUM - SECTION 6028 | 4 |SS #10X 5/8' Pan H/L Screw
INSIDE LENGHT )
B - B J'n 4/14/2021
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPALC 1622HL Mounting

Electronic Enclosures

TOP & LATCHES REMOVED
FOR CLARITY FROM ALL VIEWS

CORNER
BRACKET
pn 1355

4X SCREW

10.

/8

16

.30

OPTIONAL 1306 CORNER FEET KIT

Parts Included in kit number 1306
P/N Qty. Description
1306 4 Mounting Corner Feet
6028 4 SS #10 X 5/8" PH Pan H/L Screw

4X PIVOTING
CORNER FEET
PN 1306

.85

Bracket Dimensions

INCLUDED STANDARD
1355 FLANGE KIT

Parts Included in kit number 1355
P/N Qty. Description
1355 4 Mounting Corner Bracket
6028 4 SS #10 X 5/8" PH Pan H/L Screw
4X @ .29 FOR

1/4" SCREW

/5

4/14/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7300T Top Panel Kit for 1622HL

Electronic Enclosures

— 16.04 - R.35
i ) @/

R\

Grounding strap hole f

— — — — — — — — a — — —

PLATE
14.14 /pn 73000

4X SCREW
pn 6029
Optional kit
pn 7300T
1@ D/
Parts Included in kit number 7300T
* P/N Qty. Description
L [ ] 73040 1 Top Aluminum Panel
6029 4 SS #10 X 3/8" PH Pan HL Screw
13 4/14/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPALC 73040 AP-1 Top Alum Panel for 1622HL

Electronic Enclosures

R.35
i 16.04 o 4PLC'S
b & ? |
1.60
— P17

14.14 13.66

| Y
| NG Q
@ .20 THRU
4PLC'S
| 15.56 =

—

JA 4/14/2021
13 /14/.

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7300B Bottom Panel Kit for 1622HL

Electronic Enclosures

| 14.25 =

~

Y ole ® ®

Grounding strap hole f

PLATE
/ on 73000

12.38 o=
=0
9X SCREW ® = s []
pn 6029 )
®
$ 0[]
Y \@ @ @ Optional kit
| X pn 7300B
4X R .13
* Parts Included in kit number 7300B
L L P/N Qty. Description
73000 1 Bottom Aluminum Panel
6029 9 SS #10 X 3/8" PH Pan HL Screw
13 4/14/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 73000 AP-3 Bottom Alum Panel for 1622HL

Electronic Enclosures

|
~ 14.25 @ .20 THRU

9 PLC'S

R s A
1.60

R

Y

A A 11.75
12.38 hE i
‘ !
@ ¥ &
L J X\R 13
13.75 4 PLC'S

13 J 4/14/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPALC 7300TH Hinged Top Panel Kit for 1622HL

Electronic Enclosures

- 14.17 =
1.32 ——% —Panel hinge A Panel hinge B (2) Screw
: * _ , pn 1308 pn 1309 - on 6028
71 (®F t\ h
i )
4 (2) Hinge Pin
pn 1307

(2) Screw pn 6030 and
(2) Nut pn 6105 (not shown)

\D%

Grounding strap hole

Panel
pn 73020
14.14
JERHIH]
TN )
1 2
Optional kit
) Serow ON 7300TH
[ on 6029
(<
< &)
- 16.04 - Parts Included in kit number 7300TH
R .35 P/N | Qty. Description
73020 | Hinged Top Aluminum Panel
6029 2 SS #10 X 3/8" PH Pan HL Screw
6030 2 SS #10-32 X 3/8" Pan Combo Screw
2

@@ 6105 SS #10-32 X1/8" Nut
@ 4/14/2021
2009 Wright Ave. La Verne, CA 21750

Ph. (628) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC73020 AP-2 Hinged Alum Panel for 1622HL

Electronic Enclosures

~ R.I3
1.32 - 14.17 = 2 PLC'S
— ..
2 PLC'S ® .20 THRU
4 PLC'S
b 7 L/ R.06
) & APLCS
S R S L
1.30
— 0.7
— --— 35
6.11
X
14.14
12.94
6.83
Y Y
' & 2
o a5 — 15.56 -—
2 PLC'S - 16,04 |
J — — 4/14/2021
13 2009 Wright Ave. La Verne, CA 921750

Ph. (628) 331-0517 Fx. (626) 331-8584 serpac.com




	I622HL
	Drawing View20
	Section View A-A
	Section View B-B
	Drawing View26

	CORNER BRACKET
	Drawing View35
	Drawing View47

	7300T(2)
	Drawing View70
	Drawing View71
	Drawing View72

	73040 AP-1(2)
	Drawing View58
	Drawing View59

	7300B(2)
	Drawing View60
	Drawing View61
	Drawing View62

	73000 AP-3(2)
	Drawing View63
	Drawing View64

	7300TH(2)
	Drawing View65
	Drawing View66
	Drawing View67

	73020 AP-2(2)
	Drawing View68
	Drawing View69


